EAGRAROBREERT — 2 N— ABISH —F

20205271680 (H) 2@EzER6H

m?‘ﬁﬁﬁaﬁ G2 ¥7R4mt (EER) (GFE) AE ‘ (X8] ‘ (REBE] - |2 () 200 §
[A&4£] 1 7 62,000,000 § ~ 2 7% :25,000,000 @ 33 :16,000,000 @ 4 7 :9,300,000 @ 5 & :6,200,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SIS 4 | dtRER— 2:16.4 3-3-3-3 [ 35.8|111.0| 1 400 | FEZE (FER)
1l7l7/78/2z%Y R # 54.0 (=) w2 | B) ¥rr-L—vry
LoD Byo/avzbk =Y Tr—1I
5 ¢ i 4 | ENPAF 2:16.8 8-8-7-5 |35.9(107.0| 2 466 | ERER ()
2011 |BAL>T=T = 53.0 @ 1/2) o |&xEa
R:F4—TA>NN7 s B:YSUT HET77—L
= N 5 | AHEEH 2:17.1 2-2-2-2 | 36.7|104.2| 3 466 | KIEBEAN (ER)
3/5|5 AFA47=)ya * ;.0 (1 3/4) (+8) (B) HAL—ZXKk-2
S ZRFAd—-R BAYTAL—2 HET77—L4
i S #t 7 | AL Yaglg 2:17.2 6-6-5-5 |36.4|103.1| 5 500 | =AME (ER)
418]9 J—JIbv—X 56.0 (3/4) (+4) EARMHE
R:Tw>INRry b BT7AT7LRa— 2HIT7— L
N S Ja—1y— a7, 67 A _ sEEL (ER)
5 6 TILAY T TIL— L 4 6 S0 *x 2(7175)3 6-6-7-7 |36.4|102.1| 4 ;1:120) R = ooy
L:RU—LIv—=— B:T7IX-VUk BHT7— L
N o FIHEZ 17. -1-1- . . BE5Z (ER)
6 4| TAIVAZH YT O o (21117/8 R B R ff) PP
L:woNnNygh7x BXNHIFA b BT 7 —L4
TR i o 4 o6 | BEHEI—ER 2:17.9 9-9-9-9 [36.6| %.4 | 8 486 | HKEE (RR)
7 2 TYVRXFTNRIA 56.0 (2 1/2) +2) UL.\IEEEKEK
RN=V7514 B:T)LEANRIA v
S R v 7 | RHEE 2:18.6 3-3-4-4 | 37.9| 91.1 6 464 | KIEBEAN (EBR)
8l7/8 Ry R/J—2X - 57.0 (4) 42) (B) ¥v0Oy hT7—L
RiN—E>Tv— BTF1TFFS/ET J—HTp— L
s o7 | BREXE 2:19.5 5-3-5-7 [38.7]84.1| 9 510 | REE (ER)
9|8|10] 7 ~= 5.0 ) o) |
R:Fh¥<7128 B:22F7yT0OvY mE BE
= _ o5 . o4 JI | B = = — = = — | MIFE (ER)
oy 3(77—2aglx 55.0 (BGH) —) | B FroyrTr—L
X THANAN BV 1E— J—HrTr—LA
@ 21 L
£y 49.6-36.9
NA> 24 LA | 13.0-11.4-12.4-12.3-12.0-12.6-13.1-12.7-12.4-12.2-12.3
@ I—F—@EBIERL
15l=2r= 4-5(8,7)10(6,9)1-2 3
Aol=5"= 4=5-(8,7,10) (6,9)-1,2 3
g =5r= 4=5,7,8(9,10) (6,1)-2 3
41—F— 4-5,7,8(9,1) (6,100-2 3
[ RN
B R 7 2710 | | 71 K 1-7 180 | | # & 1-7 340/ | | 3EfE 1-5-7 400M
# B 7 1209 Sl 230 B E 1-7 400 EE ==& 1,770
1 110 1-5 210M B H 7-1 780M
5 130M9

ABRICOVTHRTEEERROODE, THEB LS,




